PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

6th August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / U 3f& P,Q,R,S 3R T

21 399 @ TP Ppeodid Al 8, TP Xaiel Raars! 8 3R U@ gl Raars! 1 P 3R S sifqaifed Afgane &
3R et @a & ey 7Y Al &1 3799 | P ot Afigan oS a1 pedla T8 @ad! 81 U [ared sier @
orad T ufd 81 Q, R T UIE g 3R 7 g Wraiel fRaarst & 7 & gio! fAarsh|

The three ladies are : / {9 AT & -
* PQR
* QRS
e P,RS
e PQS
Correct Answer :-P,R,S
2)
Question Stimulus :-

Hyder Ali was the ruler of/%ﬂ? eﬁﬁuﬁ%w ]
® Mysore /ﬁ'\‘:B
® Hyderabad /%ETWI_Q"

® Madurai /'Fl_g'ﬁ'
® Vijayanagar / foSTg TR

Correct Answer :-Mysore / A%

3)

Question Stimulus :-

()



Select the statement that is the negative of the statement "Some roses are red." / 39 ®Yd

B A Sl 39 PYT BT Uf4aS ¢ PO AN A &7
® Some roses are not red / wﬂﬁﬁmﬂﬁ%
¢ All roses are red/ﬂ’*ﬁﬂ?ﬂ'a’iﬂﬁ?

®* No roses are red /ﬁ'ﬁﬁaﬁmﬁ?ﬁ%
e None of the above / IWRIad B et

Correct Answer :-No roses are red / 15 ATd aTd 8] &

4)
Question Stimulus :-

Makhanlal Chaturvedi Samaroh is held in . / ATEAT aqgddl GURIE ¥ smaifora foear
SITaT 21

® Bhopal / Hrard

® Jabalpur / SIdIqY
® Orchha / ARBT

® Hoshangabad / 'E".TQFTIE'IE

Correct Answer :-Jabalpur / SdeYR

5)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an

hour of lunch break. / TH SPTHI 4 eI A STHF NI R TA A 10 R I TR WA TP a4 A
1 fiF e A1 & 3R 5 fiFie e el § U TR & di" a1 31 | 9T ¢ 98 30f8e SrTelt el § wim
ﬁwngm%émﬁﬁwgaﬁwam%eﬁv4ﬁmﬁm%,w@aaa 1908 BT I & HieH & g
Y |

If in each street only 5 houses has to be delivered with Ietter,-what is th-e _Iatest he should
start such that he finishes off his work by 4PM? / 3R &3 Tdl § &ad 5 W1 § U7 faafka fed s
&, @ 98 fhaeil ¢ A $TH IE I d1id HTH 499 a9 G &1 TRI?

e 9AM/gIG9 Tl
e 10AM/gdE 10 Tol

° 11AM/JEE 11 TS
(3)



® 12 Noon/GIUgR 12 9%
Correct Answer :-11 AM / g8 11§91
6)
Question Stimulus :-

Who was conferred with the Arjuna Award for Hockey in 2015? / 2015 T giot & o GWEIT'I PRYPIR o fem
T 41?2

* Saba Anjum Karim / T&T 3G H1H

® Sardar Singh / TeR RRig
® Sreejesh Ravindran / o= fasa

* Sunil Yadav / g-tdl ATGd

Correct Answer :-Sreejesh Ravindran / ST121 Ifa=s

7)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ?ﬁrq
it feT T By vd frepul & aR § "l 8:

Statements: / ®Y:

All roses are flowers / I Telld Pet %
All lilies are flowers / W $Ye1 B &
Conclusions:  / fAwpd:

I. All roses are lilies / 9 a9 $YeT &
II. All lilies are roses / Hﬂ-ﬁww%

® Only conclusion | follows / Had ﬁwsf I fArpaan %
® Only conclusion Il follows / $ad sy 11 frPedar g
® Both conclusion land Il foIIows/EbFﬁl foreed 1 GﬁT II ﬁwﬁ %

« None of the conclusion I or II follows / 5pd I a1 11 # | $I5 =81
Feaar g

Correct Answer :-None of the conclusion I or II follows / frs®d I a1 II & 9 $ig
T8t e 8
(4)



8)
Question Stimulus :-

Choose the number which is different from others in the group. / 39 T&1 &I A S 94z §
(P I F 3T T

e 17

o 27

® 29

° 37
Correct Answer :-27
9)

Question Stimulus :-

Indian Railways is the rail network in Asia, and world’s under one single

management. / HRAWI Y TREAT & Id IY 8, 3R gfar § veha uded & dgd gl
® Largest, Largest/ Rk d8l, LK d8T
® Largest, Second Largest / e qg8T, gl RCE:] )|
® Second largest, Second largest / gHRI o q8T, gl LiCE: ] 93T
® Second Largest, Third Largest / g1 o 98I, TR I a3T
Correct Answer :-Largest, Second Largest / qad CEIR-E a9 EEL
10)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the
third word. / 7% U #, Ugd d) U<l & " Wy G9y 2] Ay Aol § | 9 e g Rraer dw
g & 1Y I UPR BT T 8]

TIGER: CAT::WOLF: ? / 919 : focei :: 9fsar: 2

e CANINE / 9909
e DOG / Tl

e FOX / &SI
(5)



e NONE OF THESE / 98 § ®IS 8l
Correct Answer :-DOG / Pl
11)

Question Stimulus :-

___river connects the Calcutta port with sea. / =|T:¢pf E3K: £ & 1Y PABTT EAUI Ga| Fﬁ@?ﬁ %I
® Yamuna / YT
* Kosi/ BT
® Tapti/ ardt
® Hooghly / E‘W’ﬁ
Correct Answer :-Hooghly / §7Tell

12)

Question Stimulus :-

‘Head’ is related to ‘cap’ in the same way as ‘finger’ is related to / R <y 9 I PR d&fa % o9 avg <t
&l § 3o

® Nail / AT
® Helmet / %Faf
® Ring / S[AT

® Thimble / TSIl GIRT YT SRATAT
Correct Answer :-Thimble / GSiT §IRT U ST

13)

Question Stimulus :-

Amol is the husband of Beena, Jenny is the daughter of Beena, Diksha is the sister of Beena, Hira is the son of Diksha, What

is the relationship of Diksha to Jenny? / anﬂaéﬁmmtrﬁr%, ﬁﬂﬁmaﬁaﬁ%, EFT&‘IT Eﬂmﬁaﬁ% iﬂwa‘}&rrmaa
2 darero A TSy R

® Neice/ Hieit
® Cousin /ﬂa?'l' 'J-I'Ié
L Aunt/Iﬁ?n

(6)



® Sister-in-law / ¢
Correct Answer :-Aunt / G}
14)

Question Stimulus :-

Rampura Khunal Tank is located between / XTHYRT PUITE e & dfiw fRa @
® Tapti and Narmada rivers / araft 3R qﬁﬂT gl
® Indore and Bhopal / 371‘3? 3R HuTe
® Gwalior and Morena / TdIIeRIR @ H%‘IT
® Chambal and the Betwa rivers / T9d d dal H'pr
Correct Answer :-Indore and Bhopal / 3?3'\" 3R Yure
15)

Question Stimulus :-

Who decides questions on the disqualification of members of Parliament? / TG & Tl D AT UR Yl
1 Fruffva s FRar 32

® The President in his own judgment / ?quﬁl 3 g & foig o
® The Council Ministers / ﬂﬁm

® The President on the basis of the opinion tendered by the Election Commission / g-Td SITANT §RT

TATd & SMMYR TR AU

® Parliament / §U¢

Correct Answer :-The President on the basis of the opinion tendered by the Election Commission / -Td

TN §IRT |l URATd b SR TR APUfl

16)
Question Stimulus :-

A dice contains six alphabets from A to F on its six faces. Two Positions of Dice

are shown below: TH U & 6 BA®D! & HUR A T AP F 3feR 3ifpd ] TR $ & =T
I fears 7S &



Which of the following alphabet does not appear on any one of the adjacent
surfaces of the alphabet A? / Fgfafaa T &R A SR & fopet WY Terr Ods

W Y&e 8l gidl 52

Correct Answer :-F

17)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁn;r
it fou e YAl vd frepul & TR A 98t 21

Statements: / ®YH:
All teachers are students / 94 e/ o €

All students are professors / I o= MPER %

Conclusions: / fro:
I. All teachers are professors / I Rig& TR &

II. All professors are teachers / I4 MBIR e &
® Only conclusion I follows / Fad ey 1 Meaar %
® Only conclusion Il follows /aﬁ'ﬁ foreed 1 frerean %
® Both conclusion land Il foIlows/?:ﬁ:ﬁ foreed 1 Gﬁ? II ﬁiﬁ% %

(8)



« None of the conclusion I or II follows / 56 I a1 II # | $I5 81
Frpaar g

Correct Answer :-Only conclusion I follows / Had sy 1 Headr %
18)

Question Stimulus :-

Who was the guardian of Akbar? / [P dX & fHuTa® o9 A2
® Maham Anga / 'FIETFITIT
® Bairam Khan / S¥H &

® Humayun / §HTY
* Todar Mal / SISXHd

Correct Answer :-Bairam Khan / §¥H @9

19)
Question Stimulus :-

Select the statement that is the negative of the statement "She is a blonde." / 39 $Y HI ﬂﬁ

St 39 HYF PT UfAae § "98 M &
e She is a red-head / 98 9T 9Tl aTelt §
e She is a brunette / 98 Tidal 8
e She has no hair /39% qTd 781 §
e She is not a blonde / 38 M} 78I §

Correct Answer :-She is not a blonde /a8 M3 g &

20)
Question Stimulus :-

The drafting of the Indian Constitution was completed on / HIRd 1 HfqeT= &1 T¥ter 39 fam gzT foar T
o 26™ January 1950 / 26 o STGRT 1950
e 26™ December 1949 / 26 9 TR 1949

e 26" November 1949 / 26 & FddY 1949

©)



e 30" November 1949 / 30 df TdER 1949
Correct Answer :-26" November 1949 / 26 & AGaY 1949
21)

Question Stimulus :-

If P+Q means P is the sister of P and Q+R means Q is the mother of R, how is P related to R? / gfe P+Q 1 3 % f& P,
QI TTALTTI Q+R BT IS B & Q, RF AT §, P, R A fvy wg wwaiftra 272

L PisthesisterofR/P,R?ﬁEIBq%

° PisthemotherofR/P,Ra‘ﬁ'Fl'l_dT%

° PistheauntofR/P,Rﬁ?l'l?ﬂ%

° PisthenieceofR/P,Rﬁﬂ?ﬂ'ﬁﬁ%
Correct Answer :-Pisthe auntof R / P, R @I 9T &
22)

Question Stimulus :-

Saraswati Samman is given annually for outstanding contribution to / IREA! I

iy # Iy e & fore faar s 81
® Literature / HTI%W

® Fine Arts / GIfeTd el

® Education / ﬁT&‘IT

e Performing Arts / feiTG ®erd

Correct Answer :-Literature / 9Tecd

23)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / X< & ARG &R I 33 T §| v 3R &I Genfepa fear T 8| 98
fare g ot arde 2 @t v & R Semel & wu § eigrl BT 9 w9 a1 8
NROCTA

123456

(10)



* 1,6,2,4,3,5

e 2,3,54,6,1

* 4,6,2,5,3,1

e 6,5,2,3,1,4
Correct Answer :-4,6,2,5,3,1
24)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e T;{ﬁt{

i 3T T HyE vd frspul & aR § 9 R
Statements: / Y

All cups are glasses / 94 7 T<H §
All glasses are plates / 9} 90 w¢ &
Conclusions: / f=pd:

I. All cups are plates / 94! 0 ¢ &

II. All plates are cups / 94l Wd $U &
® Only conclusion | follows / Fad ey I Meaar %
® Only conclusion Il follows/aﬁﬂ foreed 1 freadan %
® Both conclusion land Il foIIows/@Fﬁ' frwpy 1 3T II fFrpad %

« None of the conclusion I or II follows / A=Y I a1 I1 § A ®I5 8}
Freeaar g

Correct Answer :-Only conclusion I follows / *Had fwey 1 Headr %

25)
Question Stimulus :-

This king introduce the systems of dagh and chehra, branding of horses and
detailed description of each soldier respectively / 9 36T 9 gRT 3R g0, TS BT
ST Td Ud® A-e & fawga quie &) wargar yonfer & Ry fHar ami

* Alla-ud-in Khalji / 3[CT8 3¢ § Weoil

® Balban / dddH
(11)



® Tbrahim Lodhi / SSTIH wiel

® Akbar / PR
Correct Answer :-Alla-ud-in Khalji / 318 3¢ 5 Weail
26)

Question Stimulus :-

Other than Lata Mangeshkar, which other female musician has received the Bharat Ratna? / Id[ TR &

3rerar, ®iF A 3 Afgen WaeR &I WRd I frer 12

® P Susheela/ U =i
e K S Chithra/ & T =T

® Asha Bhosle/ 3ITRIT HIEa

® M.S. Subbulakshmi/ TH.TH. GgagH!
Correct Answer :-M.S. Subbulakshmi/ TH.QH. JeJagH!
27)

Question Stimulus :-

In a class, among the passed students, Amisha is twenty second from the top and sajal,
who is ranks below Amisha, is thirty fourth from the bottom. All the students from the
class have appeared for the exam. If the ratio of the students who passed in the exam to
those who failed is 4:1 in that class, how many students are there in the class? / T D&l ff,
vl B & dh, offiuT SR I IRud M W g, 3R Ford off orfiar & - =M w3, didiad =M R I
e o gt o wien & fore ude g€ &1 39 wem H udien A S<ivl ol &1 SRt S A U 4:1 |,
Fel o ol fbaq 8 82

* 60
® 75
* 90

e Data inadequate / ST STHBRI

Correct Answer :-75

28)
Question Stimulus :-

In the following diagram. / 9 snefa &

(12)



Circle S stands for households having a scooter;/ 9 S WHR?[ TRaR gxifar g1

Circle T stands for households having a TV set; / 3< T ¢l 9@t uRaR a=ifar g1

Circle W stands for households having a washing machine; / 994 W IR 7= 91 uRaR

oriar 81

Circle C stands for households having a car. / 33 C $R it URGR gxIfdT 81

Note: The different numbers indicates the non-over lapping region_s. Fwor ex_ample, S
represents unions of regions 1,11,12,8,9,10 and 6. / feuutfl: 3/ T=@ A% ipar &= &1 gRId
Hl 81 SSIe’0T & oY, S TRgd ar § 899y 1,11,12,8,9,10 3R 61

Households having a TV set but not a washing machine are given by the region / ¥dd dl.df

e a1, I aRiT w=fiT 7 8 ar RaR P g &= gl g1
e 2
e 11
e 12
e 13
Correct Answer :-2

29)
Question Stimulus :-

Shirish is taller than Ashutosh, Raju is taller than Charu but shorter than Balu. Ashu.tosh is
shorter than Charu. Charu is taller than Shirish. Who is the tallest? / RRY AT § w47 7, I
IR A a1 8 W 19 BleT g1 AV I  BieT g1 IR RV § &9 81 999 oal S 82

e Shirish / RRIY

e Bala /dTdl
(13)



e Raju /39
e Ashutosh / 3R[EY

Correct Answer :-Bala / dTdl

30)
Question Stimulus :-

Who was the first Governor General of India after independence? / m 3731_({ YR & YU TG SR DI
A?

® Dr. Rajendra Prasad /ﬁﬂﬁ&'m

® (. Rajagopalachari/ It IeuTATEY

® Lord Mountbatten / @S HTScde-

® Sardar Patel / TR GIRY ued
Correct Answer :-Lord Mountbatten / @l ATecded
31)

Question Stimulus :-

Which was a major connecting link of trade routes and conveniently located near the ancient ports of Gujarat as
well as to Malwa, Mewar, Central India and the Deccan India? / DI AT Y dUJA ATUR AW ®I \—xﬁs‘—"r
& 1T o1 SR Ty €Y T[oRId, AIEdl, A4S, 7 HRd 3R 3FPh- HRd P RN de7e & o fRua
Yr?

® Chanderi / das

® Malwa / HIddl

® Indore /Eal¥
® Jabalpur / STdATYR

Correct Answer :-Chanderi / 931

32)
Question Stimulus :-

1. Eleven students A,B,C,D,E,F,G,H,I,] and K are sitting in the first row of the class facin_g
the teacher. / ™R8 BT A,B,C,D,E,F,G,H,I,] 3R K Rigi® &t 3k g fou gu war &1 ugd i d 98
gl

(14)



2. D is to the immediate left of F and is second to the rightof C. / D, F * {RﬁﬁﬂﬂW% St C
¥ e 3R A gRT B

3. A is second to the right of E, who is at one of the ends. / A, E & gIie-il 3R T gERTA &, St
it e RR W 21

4. ] is the immediate neighbour of A and B and third to the left of G. / J, A 3R B &1 A®ean
TSRA & 3R G & a1l iR | dRwT 81

5. H is to the immediate left of D and third to the right of I. / H, D & §i3d SRl IR SR I &
gt 3R & e 21

Which of the following groups of students is sitting to the right of G? / o & o9 W ol @
IYE G F Il SR 3371 82

e CHDE
e CHDF
e IBJA
e ICHDF

Correct Answer :-CHDF

33)
Question Stimulus :-

The 24P Tirthankara or jain guru was / 249 didfew a1 o R |
® Vardhman Mahavira / ada= ﬂ?’lﬁ?
® Rishabhnath /BYHATY
® Parsavanath /'Q'R'-&FIT?-[
® Adityanath / STy

Correct Answer :-Vardhman Mahavira / G9HT HETAIR

34)

Question Stimulus :-

Which falls is locally called the Bee Falls; so called for the stinging effect of water on people who bathe there? /

P IRA ! WIMT WR W §f Wi Fel SITdT €, TP 981 WIF H1 ard @0 &1 981 BT U= gudr 82
® Patal Pani / PIGIGEIE]

(15)



® Jamna Prapat / SHAT Udld
« Chachai Falls / TO5 BicH

* Keoti Falls / fop3N<Y ey
Correct Answer :-Jamna Prapat / ST UUTd
35)

Question Stimulus :-

Who holds the distinction of being the first President of the BRICS Bank? / R de® tl'Ea'ﬁ e b FUH

fPem Tga o1S @7
* Arvind Subramaniam / 3Rfd~G Wﬁm'q

® KV Kamath / pdl BTHY

® Subramanian Swamy / ganﬁmmnﬂ

e Kaushik Basu / $IR& 99
Correct Answer :-KV Kamath / &dl ®1HY
36)

Question Stimulus :-

Climate of India may be broadly described as ./ HIRd &I SIedrg G| a% T TR _% ¥ # gfvfa forar o
HHdT g

® Mild temperate Maritime climate / ¢l RIGIRY] Wﬂﬁ Sedrg
® Tropical Moist type / Swremied i 79 UhR

® Tropical Monsoon type / Swrsfeady HIAYA UPIR

* Moist Mid Latitude Climate / -9 U (&= Sadrg

Correct Answer :-Tropical Monsoon type / S®THea 4 HIAYA UPIR

37)
Question Stimulus :-

The Chief Justice of the High Court is appointed by ./ S <ATATad T &7 ATATHRT _gRT frge foean
SITeT 21

® The President / Tl'gqﬁ'

(16)



® The Governor / XTSIUTel

® Prime Minister / WTTHAT

® Union Law Minister / B&I DIIA A
Correct Answer :-The President / ITFUfd
38)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe

gResiah F R AR e W Fy= & qu= 2 -

If today is Saturday, then we will go to movie tomorrow. / fe TS AR §, O & g4 fbed
ST S|

e If we don’t go to movie tomorrow, then today is not Saturday. / afe o g9 fhe @A
81 oTd €, Y 3 =fvaR T8 71

e If today is not Saturday, then we will not go to movie tomorrow. / af& TS AR T8l
T, 9 & g9 fiher ¢ T8 S|

e If we go to movie tomorrow, then today is Saturday. Ife 59 o fhed 34 wId %', Gl
3TS a2

e If today is not Saturday, then we will go to movie tomorrow. /ﬁmﬂﬁﬂﬁqﬁﬁ,
o $a g9 fred 3w ST

Correct Answer :-If we don’t go to movie tomorrow, then today is not Saturday. /afe

P g fped 3@ T8l oITd &, a1 3imet ufaR 81 81

39)
Question Stimulus :-

Elections to the Madhya Pradesh Legislative Assembly were held for the first time in ./ 9% UeRT faum=
YT & 19 Ugell I Fge A

®* 1956
® 1965
®* 1957

® 1955

Correct Answer :-1957

(17)



40)
Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. No one is
crying while the rotator is stationary, then the phone can be switched off. / 3[R

Cal
%ﬁﬂ%m%w%,a‘rq%ﬁéﬁm%aﬁéwmélwﬂ%a@n%&ﬁvaﬁs‘%ﬂﬁﬂﬁw%,a‘mﬁﬁﬁaeﬁw
Hbhdl gl
* True / ﬂ%’f
e False / TTdd
e Maybe / ﬁm%
e Irrelevant / SRS

Correct Answer :-True / Tgl

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A man spends Rs 65 on week days and Rs 100 on Sundays. What is his average expenditure
for a week? / T% 3TGH! 65 ¥UY Td AWIE & fal § @d &l ¢ iR AJaR & f- # 100 T &
BT 8| BT TP qwTg BT 3Nd T 4T 82

® Rs 65

® Rs 75

® Rs 70

® Rs 80
Correct Answer :-Rs 70
2)
Question Stimulus :-

1 1 1 1
7-— -5 -{4= (3
[59_{44(

1
. 2 V2 2 2 2 2 .
Find the value of / CaR: IERECTITNIY

]
"
A= | e

(18)



Sy VY

°
N
A= | e

3
Correct Answer :-4 #

3)
Question Stimulus :-

In the sequence shown below, which figure comes next? / 9 fGEr T4 w4 & 3rTelt Smepfa
S W gRIT?

(G

Lo
b
T.

; 3)

i iti i W vi

B @P 9

]

Correct Answer :- Q

(19)



4)
Question Stimulus :-

A retailer buys a washing machine marked at Rs. 4800 & gets 2 successive Discounts of 15% & 5%. He
spends Rs. 124 on transport & sells it at gain of 13%.Find selling price of the machine? /wwﬁm
TS TR TR Siqar & e Rt Iwa 4800 U g 3R 3 15% SR 5% 3 2 AAR e Aadt 31 at
TRAET WX 124 T Wd HdT & 3R 13% & AT A =0 sgar 31 9=0 &1 fow! gea <1 32

® Rs. 5520 /34U 5520
® Rs. 4520 / 3¥UUY 4520
® Rs. 3520 / =YY 3520
® Rs. 2520 / YUY 2520

Correct Answer :-Rs. 4520 /| ¥UT 4520

5)
Question Stimulus :-

A train covers a distance of 12 km in 10 seconds. If it takes 7 minutes to pass a pole, then the length of the train is/ Th

o1 10 9&s # 12 fHeit oY gt au et 71 afe @ B IR H | 7 e d €, @ ¢ ot s g
o 120m/ 120}
* 140 m/ 140
* 160 m/ 160 Ht
e 180 m/ 180 Hi

Correct Answer :-140 m/ 140 |}

6)
Question Stimulus :-

56/7-3+17x2=?
44
e 39
e 48
e 51/3

(20)



Correct Answer :-39

7)
Question Stimulus :-

One number is six times as large as the other. The percentage that the second number less than the first number is /

TH BT GOl W1 A B8 T TS 21 Ugell T=T A FH I gl WSl 31 ufa=raar 8

1
Correct Answer :-83:

8)
Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy °, T= 491 ¥ TS UG Ted §| A Ug 99 Biv™|  2,5,11,23,46,95

e 95

e 46

e 11

5
Correct Answer :-46
9)

Question Stimulus :-

Two candidates A and B appear for an interview for two vacancies in the same company.
The probability of A’s selection is 1/7 and B’s is 1/5. What is the probability that both of
them will be selected? / &I SWIcaRI A 3R B & U® g $U-l § I Ricaal & fore uwe gid &1 9= &t
YUGATA Bt 1/7 8 3R B 91 1/5 &1 9T a1 @ T 37 1 &1 =g+ fan simeam?

e 1/7

® 1/5

(21)



e 5/7

° 1/35
Correct Answer :-1/35
10)

Question Stimulus :-

A train 125m long passes a man, running at 5kmph in the same direction in which train is moving, in 10sec. What is the

speed ofthetrain?/@lzswwaqwm,ﬁSﬁﬂﬁ/ﬁaﬁ“ﬁfﬁwmﬁmwamm
W 37 99 ¥E1 €, B UR B H 10 Abs Al §1 27 & T 1 82

e 55kmph /55 fRHt uferder

54 kmph / 54 fFHT uferger

e 50 kmph / 50 fopH wfereer

e 45kmph / 45 frHY gferder
Correct Answer :-50 kmph / 50 fpHT ufereer
11)

Question Stimulus :-

If the code for SOCCER is QVMIAACP then what will be the code for CRICKET? / ?T% SOCCeR & ol wig QMAACP %

@ crRICKET & o0 1 HIS BT

® RIGACAP

® GPARICA

® RCIAGPA

® APGAICR
Correct Answer :-APGAICR
12)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWT TAHR STAT BT [T PIOT :

4,11,25,___ , 109,221

e 50

(22)



e 40

e 53

e 58
Correct Answer :-53
13)

Question Stimulus :-

A pipe can fill a tank in 6 hrs. Due to leakage, it took 7 hrs to fill the tank. The leak can drain the water of
the tank in / U UIRU TP ¢ PI 6 Ul § WX FHal 51 R 1 995 9, 39 <& o1 WA § 7 98 @1 &R0r
3P & Ul B 3a9 IHY § 98 Il @

e 40 hrs / 40 ©¢

® 41hrs / 4142

® 42hrs / 426

® 43hrs / 43 °e
Correct Answer :-42 hrs / 42 °¢
14)

Question Stimulus :-

In a certain code ‘Eat fresh apple’is written as 'keat teek kata; ‘Eat the food’ is written
as ‘meek peek teek’ and ‘Fresh lime juice’ is written as ' kata seda tob’ . In that code
the word ‘keat’ is used for : / &3t @Y ®is H, ‘Eat fresh apple’ & ‘keat teek kata forar ST &
; ‘Eat the food’ &) 'meek peek teek’ fiRal w1 8 3R ‘Fresh lime juice’ &) * kata seda tob’ fer@n

STdT 8| S PIS | Mg 'keat’ STP o€ THNT fhar SIRATT:

® apple
® juice
® Jime
® food

Correct Answer :-apple

15)

Question Stimulus :-
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The percentage of women in a panchayat is 49. One-third of the men are can read and _
write. The number of illiterate men is 3400. How many women are there? / T® UEIUCR:]

wfgemsit 1 ufaxraar 49 g1 g3l &1 Tah-fass R ve-fora 9war 31 FRer youl @1 w=m 3400 g1
Afged et 82
® 4900
* 9800
* 10200
* 5100
Correct Answer :-4900
16)
Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for MERCEDES? / df¢ ABCDEF @I zvyxwvu J Hifad

fpaT SITaT @ Y MERCEDES & o1 oRIT s gIIT?

® |VNXVHVW
® NVIXVWVH
® WHVVNXIV
® XNVIWVHV
Correct Answer :-NVIXVWVH
17)
Question Stimulus :-

What will be the next term in the series / $&aT ¥ 3RTAT Ug FIT FRI?

Z,y, X, wV,uT,s R, ?
°Q
° q
e P

*p

Correct Answer :-q
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18)
Question Stimulus :-

In a code, SHARE is written as BFIST and NAME as BFNO, how is RUSH written in that code? / Th A ﬁ, SHARE @1 BFIST

Td NAME B BFNO forad €1 S &1 ® RusH &1 9 forda?
® SVTI
® ISTV
e QTRG
® HRSU
Correct Answer :-ISTV
19)

Question Stimulus :-

In a certain code ‘salt pan owners’ is written as ' deje jede deej’ ; ‘owners of house’ is
written as ' eedje deej jeed’ and ‘' club house member’ is written as ‘jeed doje jode' .
In that code the word ‘eedje’ is used for: / fo<tt @ g aﬁ%'ff, ‘salt pan owners’ Ca deje
jede deej’ ﬁ»r@wm% ; ‘owners of house’ Cal eedje deej jeed’ fern e % 3R " club house
member’ &I ‘jeed doje jode’ feran sman %I I Bis | T ‘eedje’ 3‘\‘@3 ﬁ'E TN foar SIRATT:

® salt

® pan

® house

® of
Correct Answer :-of
20)

Question Stimulus :-

If 35 is subtracted from a number, then it reduces to 80% its original value. What is the 3/5 of that number? / Tlﬁ{ 35

3! el T=I A ger 9, 9 98 U R U YA TTH BT 80% 91 SITdl &1 61 S TGAT BT 3/5 FIT GHIT?
e 95
e 100

e 110

(25)



e 105
Correct Answer :-105
21)

Question Stimulus :-
How many seven letter words beginning with ‘S’ and ending with N can be formed from the letters of the word
SECTION? / SECTION XTeg ¥ 31&RI | ‘s’ T Y= Bl ¥a 3R N A JATE 7 38 fha= Iq1a 3MeR ardt Meg 9910
ST g 82
* 720
® 480
°* 120
* 240
Correct Answer :-120
22)
Question Stimulus :-

What is the sum of the greatest 4 digit and smallest 5 digit number? / 4 3P B gaA H?ﬁ ST T!,?I 5 3& &I

G BIE! TBAT BT IS T M2
® 99999
® 100000
® 109999
® 19999
Correct Answer :-19999
23)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 7Y 28 70 IR vl & A = 33 T vd & Sie I9H $I9 91 U T8l 82

Greater London Authority
City Hall
The Queen’s Walk

(26)



More London
London SE1 2AA

(i) Greater London Authority
City Hall

The Queen’s Walk

More London

London SE1 2AA

(ii) Greater London Authority
City Hall

The Queen’s Walk

More London

London SE1 2AA

(iii) Greater London Authority
City Hall

The Queen’s Walk

More London

London SE1 2AA

(iv) Greater London Authority
City Hall

The Queen’s Walk

More London

London SC1 2AA

Correct Answer :-iv

24)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination / T € 7 S@ar sieRl T TSN BT SIHH UART Helt 8] Teld T Tg==a|

(i) WX1245622T1
(ii) WX1243622T1
(iii) WX1245622T1

(27)



(iv) WX1245622T1

o |

e ii

o fii

* iv
Correct Answer :-ii
25)

Question Stimulus :-

What will be the next term in the series? / WFIT ¥ [T UG acnaﬁm?

ZA, YB, XC, WD, VE, UF,

* TG

® SG

® TH

® SH
Correct Answer :-TG
26)

Question Stimulus :-

What is the fourth proportional of the given number, 0.2, 0.6, 0.5? / | Tlﬁ 0.2,
0.6, 0.5 TWATAT BT YT HIUTT HIT 82

* 0.8
* 1.5
e 041

® None of these/ 3TH q I a1
Correct Answer :-1.5
27)
Question Stimulus :-

(28)



Complete the series choosing the missing number: / AW @I A F@T DI R PO :
1,2,4,7,11,16,

e 22

e 20

e 18

e 24
Correct Answer :-22

28)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / g GHTﬁI' & g9 & ford
AqH AT A fpa- W Yarsi it smazawar gii?

NS
/

NV
NS

e 13

e 14

e 15

e 16
Correct Answer :-16
29)

Question Stimulus :-

CANCELLED
(4x2-9) X (2x%-3x+1)/ (2x-3) =?

® 4x-3
(29)



* 3x-4

e 2x-3

e 1
Correct Answer :-2x-3
30)

Question Stimulus :-

Anu bought apples at Rs. 12 for 5. She targets a profit is 15%. At what price should she sell 10 apples? / GF{\% 12
FUAl 9Tt 99 B 5 ¥ A @G| S 15% ATH BT 967 I@T| S 10 Al i fovad | 9= anfge?

® Rs.1.80
® Rs.3.60
® Rs.0.36
® Rs.27.60

Correct Answer :-Rs. 27.60

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Use the following graph to answer the question / ¥ & I ¢4 & ¢ I foT T U1 %71 uai
G|

Cost of a Two wheeler

The cost of Engine is more than the cost of gear box by Rupees? (Cost of the two wheeler

is Rs. 40,000?) / S5 &1 Yed TR S & Yed & fhas TUT W& 82 ( &) ufdar 9 &1 Yeu 40000
(30)



0T 31)

® 5600

® 4400

e 7400

® None of these / 3TH | B3 ol
Correct Answer :-5600
2)

Question Stimulus :-

The curved surface area of a right-circular cylinder of base radius ‘r’ is obtained by multiplying its volume by

a1+ 91a 99 9o 99 BT I U8 &A% d SUP A $i fbad UM P UK foar smeem?
e 2r
e 2/r
« 212
«2/1r2
Correct Answer :-2 / r
3)

Question Stimulus :-

Find antilog (2.4567) / (2.4567) ufaay A&
® 286.3
* 2863
® 2.863
® 0.2863
Correct Answer :-286.3
4)

Question Stimulus :-

(31)



The food synthesised in the leaves should be transported to all the parts of a plant. This is done by a tissue made

of specialised cells called / ufral ® Iafyd Wieq uig & 9 Wﬁﬁmmmﬂﬁa| gg Uh
Sde g1 forar wirar & s fafee SifXmersit gR1 991 gia1 8, it ®eardr &

® Xylem / SITgeH

® Phloem / TIGH

® Vascular tissue / AIEHT Hdd

® Stem / I
Correct Answer :-Phloem / FIIGH
5)

Question Stimulus :-

A mixer jar becomes hot when the mixer is run for a few minutes dueto / IR & o fiFe
T P 91¢ FHRR IR 74 31 &1l 3, $9ST PRU 3

e Speed of the motor / HieI &I T
® Constant friction between the moving parts of the machine / H=F & TeIferd U & diE eRTaR gYoT
¢ Noise produced by the motor / Hiex 9 ST @

® Elimination of friction / Tyl o7 faenu=

Correct Answer :-Constant friction between the moving parts of the machine / HR9 & Tafera yrM
& ¥ TR °gyr

6)
Question Stimulus :-

A chick hatches out from a hen's eggin_____ /T JulT U Il & i3 ¥ fpa vy # amer fFopadan &2
e 1 week / 1 d4lle
* 2weeks /2 TWTE
* 3 weeks /3HWTE

® 4 weeks /49T

Correct Answer :-3 weeks / 39lle
7)

(32)



Question Stimulus :-

You must have seen Pipal saplings on the sidewall of your school or home. How would

this have happen? / 30 3UA f3Eerd 91 R $t ORI W diud & Y SR <@ 81 I8 S gid1 82
e Some children would have planted them / $ 3= 3% dgi JTUd Hd &

e Pipal likes to grow on the wall as people worship them /7 @1 diua #1 YoiT #ed € iR S
AR W faHiad &= g Fd §

e Birds have eaten the fruits and their droppings on the crevices of wall, enabled their

growth / T&ft e @rd § 3R SRl 9 RRI R 39¢ 7o fiua o1 gfs d Gerae g €
¢ Rain water must have brought them / 39 &1 ¥d 37 1T R

Correct Answer :-Birds have eaten the fruits and their droppings on the crevices of wall,

enabled their growth / ueft va @A & iR aRT o1 RRT W 39¢ 7a fud #t gfx # Te@s aq &

8)
Question Stimulus :-

Evaluate (475 + 425)2 - 4 * 475 * 425 / (475 + 425)2 - 4 * 475 * 425 &1 4 FA&1faw
* 3600
® 3500
® 2500
* 3160
Correct Answer :-2500
9)

Question Stimulus :-

Directions for the following two questions: Study the graph below and answer the

questions. (Consider approximate values for answers) / Fgfefaa g usl & foe fezn-fAd=r: <=
T 7T 7% o1 Sreae PR iR Hare F warw o’ (Sare & e srgETfe geal iR R $icr)

i+ I (1000 )
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Production of Sugar in Punjab/ 95 & &) o1 Ieqea

55

60
50
40 -
30 -

52

1

10 4

2000 2001 2002 2003 2004

Sugar prochuction(1000tonnes)

year

What was the ratio of average production of Sugar in first 2 years & last 2 years? / u-s@f 2 91 3fi¥ st 2 quf #
At & 3T SIS BT U FIT YUT?

* 25/23
* 23/25
* 24/16
® None /IS &l

Correct Answer :-23/25

10)
Question Stimulus :-

The Distance-Time graph for an object moving with a constant speed is a / TP R nfg @ 9 arelt qa¥%q ¥ fag
X g uTE 7

® Curved line / % &1

® Straight line parallel to Y-axis / Y- Sf& % gUMIaR dieht ¥

® Straight line passing through Origin / H& ﬁg kil {lﬁﬂ?ﬁ Eﬁ TR T

® Straight line parallel to X -axis / X-3{& ¥ guiaR @i Y@m
Correct Answer :-Straight line passing through Origin / & fdg ¥ oRd! §5 Ixa ¥@1
11)

Question Stimulus :-

When we walk, sit, stand, run or lie down, there is force acting on our body all the time. This force is / SId

TH Tdd, 334, WS 84, ISa AT A §, TP 9 THR TR W g¥ TG ST H 38T 81T 21 U8 9 2
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® Frictional force / uyur 9
* Gravitational force / TS@IT a
* Electrostatic force / RRR égua EG)

* Magnetic force / a1 T
Correct Answer :-Gravitational force / @ da
12)

Question Stimulus :-

A boy is 10 years old & 148 cm tall. At the end of the growth eriod his height is likely to
be approximately (% of full height=78%) / T @S®I dY §al %maﬁ? 148 9} @1 8| gfs B
P JATGN WR, ITP] dHTs Bt IAwed: ( q&mﬁaﬁuﬁsﬁm 78%)3a9 81 F TG &

® 189.7cm
® 140.4cm
® 120cm

® 112.7 cm

Correct Answer :-189.7 cm

13)

Question Stimulus :-

If two pieces of lengths 13/5 m and 33/10 m are cut from a 11 m long rope, then the length of the remaining rope is

/ °fe T 11 ¥ ot =AY | 13/5 W Td 33710 W daEal & & g DI T, 99 AY IS
Pl TS cevvemeeran BRI

* 51/10 m / 51/10 #
* 51/10 m / -51/10 /Y
* 51/5m / 51/5 %t
* 51/-5m / 51/-5
Correct Answer :-51/10 m / 51/10 4t

14)

Question Stimulus :-
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Convex mirrors are used as rear view mirrors because they form / 3<d E'CfUT T UART U?j@ﬁ 3YqT NIy 3T &
U1 & ¥ ¥ forar oiran § i 3 o9 §

® Tmages of objects spread over a large area / a?_g'a'ﬁ CaR*IGIEE] Uh El% PRI Har G| %’

® Clear enlarged images / YUY dgl g3l ufafda

® Wide images / Eﬁauﬁrﬁa

® FErect images / -3 ufafdg
Correct Answer :-Images of objects spread over a large area / aﬁﬁ'ﬁ CaR*IGICE] Usdh a% & | Har ﬁ?ﬂ %
15)

Question Stimulus :-

If AB is a diameter for the given circle LACB = / afe fau e qa &1
ST AB § df LACB = gl

® 45°

e 30°
e 90°
Correct Answer :-90°

16)
Question Stimulus :-

Marble cancer is caused by / TTHIHT FIX fpad HRUT grar %
 Deposition of soot particles / HIfe@ HUN & fHegor §
® Acid rain / 3% aut d

® Ozone layer depletion / ST URe 3aerd J

(36)



® Global warming / ﬁ%—hoCﬂ ?ITW@@ q

Correct Answer :-Acid rain / 3% 99T

17)
Question Stimulus :-

Use the following graph to answer the question / U4 & 3™ ¢4 & fag R few v y1w &1 v
P

Cost of a Two wheeler

What is the cost of tyres? (Cost of the two wheeler is Rs. 40,0007?) /qﬁﬁ DT oI T %? (T:?f 'lT%TIT die- T HeI 40000
=T g1)

e Rs 5000
e Rs 8800
e Rs 12000
e Rs 4000

Correct Answer :-Rs 4000

18)
Question Stimulus :-
The compound ratio of (2:3),(6:11) and (11:2)is: / (2:3), (6:11) Eﬁ'(ll :2) BT forsy SIUTd %:

® 11:24

(37)



® 36:121

Correct Answer :-2:1

19)
Question Stimulus :-

Use the following graph to answer the question / U4 & 3R & & faw <= faw ¢ u1w &1 wamT
oy

Cost of a Two wheeler

Which item in the two wheeler costs the maximum? / 33f UI%'CIT dle- H g a¥q dT oI SfferFan %?
® Tyres/ClAXY
* Engine / o
® Transmission / 'g’m&rm
® Gear box /TﬂTR' T
Correct Answer :-Transmission / ¢RIfURM
20)

Question Stimulus :-

Directions for the following two questions: Study the graph below and answer the

questions. (Consider approximate values for answers) / Frafafea o sl & forg fezn-Ader: =9
3T T 71w F7 Srraa FIR SR Tatet F WA R (Sae & e srgEfa e R R FitR)
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Production of Sugar in Punjab/ 9o & =) 57 Ieqea

&0 55

50
40 -
30 -
20 A

52

1

2000 2001 2003 2004

Sugar production(1000tonnes)

If average production of Sugar in first 3 years and second 3 years are compared, then during which slot production was
more? / 3R UEA 3 WA 3R ¥ 3 qut & A+t F} oia e Ft ga-r ot Wt 8, df {5 wWile & dRM
SeUTe SfP UT?

® First 3 years /q?ﬁ 3 9rd

® Second 3 years /W 3 9l

® Middle 3 years /@ﬂ'% 3 9

® Can't predict / 3IJHIT :l_Eapf T Hhd
Correct Answer :-second 3 years / GOX 3 W
21)
Question Stimulus :-

If x% of 'y’ is the same as 4/5 of 80, then the valueof xy is / gfe 'y’ BT x%, 80 F4/5F
U § 99 xy HT I+ &:

® 640

® 320

® 3200

® 6400
Correct Answer :-6400
22)
Question Stimulus :-

(39)



Why do the insectivorous plants trap insects? / @lcgRl WY il & 7 Thsd &2
e Because they are predators / Hife 3 WYl 814 B
e They like the taste of insects / d Pl BT WG TG HA 2|
 To overcome the Nitrogen deficiency in the soil / ga1 ¥ ATSEIo Bt HHI B g B & foT|
e They cannot synthesize food /3 YIS TR T8l HR THd B

Correct Answer :-To overcome the Nitrogen deficiency in the soil / G & AT3cIoT ®t HHT BI
™ H & fou)

23)
Question Stimulus :-

Find the diameter of a circle, which has an area of 154 square feet. / 39 9 BT A JATd
Fifore, fSraeT &F%wd 154 91 Bic B

® 49 feet /49 Ble

® 24.5feet/24.5WIT
e 14feet/14THIC

® 7feet/7 Wic

Correct Answer :-14 feet / 14 BIE

24)
Question Stimulus :-

An electric cell produces electricity from the / T ﬁg’fﬁ[ ad ﬁg’q?[ FT IAIGT $UB GRT ST §
® source of current / HRT BT o
® circuit / TRy
® chemicals stored in it / g'ﬂﬁ RIECESINE]
® switch / =
Correct Answer :-chemicals stored in it / HH Tferd I
25)

Question Stimulus :-
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The locus of a point at equal distance of ‘a’ cm from a fixed point ‘A’ is a ./ TP aa ﬁ'g" ‘A’ Y U gﬁ
‘a’ Il W @ fig &1 ooy 7l

® circle with radius ‘a’ and centre ‘A’ / ‘a’ frsar 9 A’ F5 aren qd
® square with side ‘a’ / ‘a” YSIT &1 G

® rhombus with side ‘a’ / *a” YSIT dIell ﬂ'lﬁ'g,"{iﬁ

® straight line / ieht Y

Correct Answer :-circle with radius ‘a’ and centre ‘A’ / ‘a’ {301 9 ‘A’ &g arel qd

26)
Question Stimulus :-

A free falling body moves with a constant speed. Its motion is said to be / b Hdd =7 GRUESG| g3l o RR

T & AT T ¥ SHST T FEAr @
® Uniform / HHT
¢ Non uniform / STHHH
e Initially uniform finally non uniform / URY ¥ TUM 3id # "W
® Initially non uniform and finally uniform / URY T U T4 3id ¥ g
Correct Answer :-Uniform / JHIS
27)

Question Stimulus :-

Summers in Chennai are usually hot & humid .So the kind of clothes one should wear in summer is / %ﬂg’ H

ffat sreR T ok o Bt ¥ SRR i ¥ Ww § &R Ue 9 59 R P $US UgA Tiied
Silk / ¥=TH
Woolen/Fﬁ

Cotton / e

Polyester / tl‘ﬂ%‘lw

Correct Answer :-Cotton / Hicd

28)

Question Stimulus :-
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If A = 60° and B = 30°, then cos A cos B —sin A sin B is / afeé A =60° T B = 30°, 9 cos A cos B — sin
AsinB = |

® cos (A+B)

® cos (A-B)

® sin (A +B)

® sin (A -B)
Correct Answer :-cos (A +B)
29)

Question Stimulus :-

Microorganisms act upon the dead plants to produce / Hd ﬁ%ﬁwa&mﬁa P PIb IS
CaCh

* Humus / EION

® Garbage / PSI-PIST

® Soil / Hal

® Wood / GHSI
Correct Answer :-Humus / §9HY9
30)

Question Stimulus :-

There is a group of non cellular organisms, which after invading a cell take over the machinery of the host to

reproduce. Name that group/ﬁ?aﬁﬁlﬁuvﬁﬁmwﬂ%%vﬁﬁﬁmwwm?r%umw
AT B AR &1 U HA & T 3ua R # & AT 81 39 IHE &1 19 Id13¢]

* Virus / faui

® Bacteria / Vﬁﬁ'ﬂ{[
® Protozoa / Eﬁaﬁﬁ\'ﬂT

® Fungus / HddH

Correct Answer :-Virus / faum
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